Averages

Beaver

Avg.	\$7.50	Description	No. Pelts	High	Low	Average	Total
		Beaver 2X (65-70) Damaged/Ru	2	\$10.00	\$5.00	\$7.50	\$15.00
		Beaver 2X (65-70) Good	5	\$19.00	\$14.50	\$16.30	\$81.50
		Beaver LG (55-60) Good	1	\$3.00	\$3.00	\$3.00	\$3.00
		Beaver Med (47-51) Good	1	\$4.00	\$4.00	\$4.00	\$4.00
		Beaver SM (42-47) Damaged/R	1	\$2.00	\$2.00	\$2.00	\$2.00
		Beaver SM (42-47) Good	6	\$3.00	\$2.00	\$2.83	\$17.00
		Beaver XL (60-65) Damaged/Ru	3	\$5.00	\$5.00	\$5.00	\$15.00
		Beaver XL (60-65) Good	2	\$12.00	\$8.00	\$10.00	\$20.00
		Totals	21				\$157.50
Casi	tor						
Avg.	\$41.33	Description	No. Pelts	High	Low	Average	Total
		Castor	3	\$80.00	\$5.00	\$41.33	\$124.00
		Totals	3				\$124.00
Coy	ote						
Avg.	\$27.35	Description	No. Pelts	High	Low	Average	Total
O	•	Coyote #1	60	\$73.00	\$11.25	\$39.63	\$2,377.75
		Coyote #2	39	\$35.00	\$2.00	\$23.65	\$922.50
		Coyote #3	22	\$15.50	\$3.50	\$10.27	\$226.00

Saturday, Febru Page 1 of 4

		Coyote Damaged	11	\$11.00	\$1.00	\$7.64	\$84.00
		Totals	132				\$3,610.25
Mink	-						
Avg.	\$3.88	Description	No. Pelts	High	Low	Average	Total
		Mink F/Cot-Damaged	6	\$3.00	\$1.50	\$2.00	\$12.00
		Mink Female 17	4	\$2.00	\$1.50	\$1.63	\$6.50
		Mink Female 17-18	8	\$5.00	\$2.00	\$3.06	\$24.50
		Mink FM/slight	2	\$3.00	\$3.00	\$3.00	\$6.00
		Mink Lg Male	4	\$5.00	\$2.50	\$3.25	\$13.00
		Mink ML/slight	6	\$5.00	\$0.50	\$1.92	\$11.50
		Mink XL Male	23	\$7.00	\$5.00	\$5.75	\$132.25
		Totals	53				\$205.75
Musk	crat						
Avg.	\$3.27	Description	No. Pelts	High	Low	Average	Total
		Muskrat 11-13 M/SD	58	\$2.00	\$0.50	\$1.46	\$84.85
		Muskrat 13+ LG Fall	542	\$4.50	\$2.25	\$3.80	\$2,059.30
		Muskrat Damaged	53	\$2.00	\$0.50	\$1.37	\$72.80
		Muskrat Flats	8	\$4.00	\$0.50	\$2.44	\$19.50
		Muskrat Kits	25	\$0.50	\$0.25	\$0.35	\$8.75
		Totals	686				\$2,245.20

Saturday, Febru Page 2 of 4

Raccoon

Kacc	:00n						
Avg.	\$3.31	Description	No. Pelts	High	Low	Average	Total
		Raccoon 2X (#1&2) 29-32	123	\$4.75	\$3.00	\$3.70	\$455.00
		Raccoon 2X (#3) 29-32	11	\$1.00	\$0.50	\$0.77	\$8.50
		Raccoon 2X (low) 29-32	6	\$1.00	\$0.25	\$0.67	\$4.00
		Raccoon 2X (slights) 29-32	79	\$3.50	\$0.50	\$2.58	\$203.75
		Raccoon 3X (#1&2) 32+	90	\$7.00	\$4.00	\$6.43	\$578.25
		Raccoon 3X (low) 32+	2	\$0.25	\$0.25	\$0.25	\$0.50
		Raccoon 3X (slights) 32+	60	\$6.50	\$0.50	\$3.75	\$225.00
		Raccoon Green (2 & 3X)	5	\$1.00	\$1.00	\$1.00	\$5.00
		Raccoon LG (#1 &2) 24-27	28	\$2.00	\$0.50	\$1.71	\$48.00
		Raccoon LG (low) 24-27	2	\$0.25	\$0.25	\$0.25	\$0.50
		Raccoon LG (slights) 24-27	11	\$1.00	\$0.50	\$0.86	\$9.50
		Raccoon M (#1&2) 22-24	5	\$1.00	\$0.50	\$0.60	\$3.00
		Raccoon M (slights) 22-24	2	\$0.50	\$0.50	\$0.50	\$1.00
		Raccoon SM (slights)	1	\$1.00	\$1.00	\$1.00	\$1.00
		Raccoon XL (#1&2) 27-29	49	\$3.00	\$1.00	\$2.18	\$107.00
		Raccoon XL (#3) 27-29	2	\$0.50	\$0.25	\$0.38	\$0.75
		Raccoon XL (low) 27-29	10	\$2.00	\$0.50	\$1.05	\$10.50
		Raccoon XL (slights) 27-29	28	\$3.00	\$0.50	\$1.48	\$41.50

Saturday, Febru Page 3 of 4

Totals

514

\$1,702.75

RedFo	x

Avg.	\$11.23	Description	No. Pelts	High	Low	Average	Total
		Red Fox #1	6	\$24.00	\$11.00	\$14.17	\$85.00
		Red Fox #2	6	\$13.00	\$6.00	\$9.50	\$57.00
		Red Fox #3	1	\$4.00	\$4.00	\$4.00	\$4.00
		Totals	13				\$146.00
Skunk	ζ.						
Avg.	\$1.88	Description	No. Pelts	High	Low	Average	Total
		Skunk	4	\$3.50	\$1.00	\$1.88	\$7.50
		Totals	4				\$7.50
Grand T	otal		1426		\$8,198.95	5	\$621.04

Saturday, Febru Page 4 of 4